Maths Homework - Year 3 (Due Wednesday 14th October) 
This week we have been looking at 3 digit numbers, mental methods of subtracting and adding ones kepping within tens and crossing tens. Children have been introduced to the terms ‘regrouping’ and exchange’.
Do as many questions as you can 😊
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Times tables: it is important that you practice your times tables regularly?
Test yourself on the 3, 4 and 8 times tables, can you beat your own time?

Maths is everywhere!                                                                                                                  
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FLUENCY 1
‘Complete the stem sentences for the calculation.

onesand __ones =

___ftens and __tens=

___tens and __ones =

FLUENCY 2

Draw base ten to represent and solve this calculation.

FLUENCY 3

Write the calculation that the place value counters
are representing.

FLUENCY 4
Jerry has 25 marbles.

s %

How many marbles do they have altogether?

Millie has 58 marbles.




image2.png
REASONING 3

REASONING 2
Marlon is calculating.

Which does not represent the calculation

5tens and seventeen ones = 67 [ ] L
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Why not?

1 can't solve it because there is no
such thing as 3 tens and 13 ones.

Explain why Marlon Is wrong.

REASONING 3
The children are solving the calculatios

The total is 81. The total is 91.

Who is correct? Prove it.

AV

Anita
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PROBLEM SOLVING 1 PROBLEM SOLVING 2

Caleb and Darcey both have some money. How many calculations can you write that fit these rules?
Read the clues to work out how much they could have.

Both parts have a ones digit greater than 5.
They have 56p altogether.

Both parts have the same number of tens
They only have 10ps and 1ps.

The whole is less than 60.

I have more than Darcey.

EXTENSION
h Can you write similar rules for your

friend to make calculations from?

We both have more than
5 pennies.

Is there more than one answer?




